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76 cmHg vac 18 bar G
29.92 inHg vac ~ 17.5kg/cm?G

InHg vac

— 18

R 4

— kg/cm?G
| psig

kPaG
— barG

o

—— — & 7 R4 (latm)

—+ >

cmHg vac— & 7 Jik 4 (_ﬁ_ ZR)

22NN

76 — 3 ¥+ 2 7 (Oatm)



0 atm



0 atm
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3.033kg,/cm?

0 atm
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Y 0 atm
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latm =101325Pa =101.325kPa =1.01325bar Sl

K
o s
cm
=760mmHg = 760,000pumHg (micro) = 760 torr A4
=10.33mH.0O
b, .
=14.696psi () =29.92 inHg =33.95ft H,0 I=

Note :
1 torr =1 mmHg =1,000 pmHg (micro)



5,253,286 kPa

pSI



of

5,253,286kPa ~—
5,253,286RRax( ~—— )= k9f2
RRQ cm
K,
5253286kRax( CM )= <O
b} ) sz
K
5253286kPax 1 = Cr?]fz
1.033 K% y
5,253286kPa x ( CM” ) _ 5355689

101.325kPa cm?



14.696 psi

5,253,286 kPa x (
101.325 kPa

) =761927.4 psi

5253286 kPax(—20MMAg v 5 944 107mmHg
101.325 kPa



i LT g R A faiﬂzﬁ;m’ ?(1) 1 bar(2)5psi(3)10mmHg(4)100 Pa -

101325Pa

Lbar= (5 3550ar

) =100,000 Pa

101325 Pa
' -)=34,474 Pa
> ps >((14.696 p3|)

101325Pa
=1,333P
10 mml_lgx(760mmHg) . =




B ¢ 3R 2.5kgd/ecm?G & >t 2(1)kPa (2)5 psi (3 )10mmHg -

(2.5 KOt 1,033 ) eo=s2ba, L eelipa

cm? cm? 1033 K,
cm?®
(2.5 K0 11033 kgfzj L(ZO9OPSy _ o 3
cm cm 1033 Kg;
cm?

(2.5 KOr 103319 jx(mommHg) — 2599mmHg

2 2
cm CM*/) 1033 kgg

cm




2.5kg/cm?
——————————————————————————————— 1 atm
40 cmHg
Y (2.5 +1.033)
) 29.92inHg3.533kg/cm?
(-40+76)
=36cmHg
! 0 atm
P.,=-29.92+29.92

abs

=0inHg



1kg ¥ & 4 ¥ 1 & £ 5 9.807N

W =mg
_ (1kg)(9.807 1)
S

=9.807/N



1 RT =3.516 kW

= 3,024 kcal/hr
=12,000 Btu/hr

Sl

2 41

IP



kW
Btu/hr

5,253kcal/hr



5,253 kcal/hr kW

5,253kcal/hr x = kW
Callhr x ( C\&LU)
5253kEaJ(hr><( }Lk ) = kW
5,253kcal/hr x 1 = KW
5.253kcal/hr x (20 KWy 69w
3,024 kcal/hr
12,000 Btu/hr
5,253kcal/hr x( 3024 keal/hr ) =20,845 Btu/hr




5,253 kcal/hr kW

5253kcal/hrx 1 = kW

3.516 kW
3024 kcal/hr

5,253kcal/hr x( ) =6.1 kW

12,000 Btu/hr
3,024 kcal/hr

5,253kcal/hr x( ) =20,845 Btu/hr



